
File Name: ALG2QUAD.8XP      Type: Program      Protected: No
Comment:Program file 01/13/05, 11:47

ClrHome
Menu("WHAT YOU GOT?","STANDARD",1,"VERTEX",2,"INTERCEPT",3)

Lbl 1
Prompt A
Prompt B
Prompt C
⁻B/(2A)→H
(B/(4A))-(B/(2A))+C→K
ClrHome
Output(5,7,"H=")
Output(5,09,H)
Output(6,7,"K=")
Output(6,09,K)

If B-4AC<0
Then
Goto 6
End
(⁻B+√(B-4AC))/(2A)→P
(⁻B-√(B-4AC))/(2A)→Q
Output(7,7,"P=")
Output(7,09,P)
Output(8,7,"Q=")
Output(8,09,Q)

Lbl 5
Output(2,7,"A=")
Output(2,09,A)
Output(3,7,"B=")
Output(3,09,B)
Output(4,7,"C=")
Output(4,09,C)
Goto 4

Lbl 2
Prompt A
Prompt H
Prompt K
⁻2AH→B
AH+K→C
ClrHome
Output(2,7,"A=")
Output(2,9,A)
Output(3,7,"B=")
Output(3,9,B)
Output(4,7,"C=")
Output(4,9,C)

If B-4AC<0
Then
Goto 9
End
(⁻B+√(B-4AC))/(2A)→P
(⁻B-√(B-4AC))/(2A)→Q
Output(7,7,"P=")
Output(7,9,P)
Output(8,7,"Q=")
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Output(8,9,Q)

Lbl 8
Output(5,7,"H=")
Output(5,9,H)
Output(6,7,"K=")
Output(6,9,K)
Goto 4

Lbl 3
Prompt A
Prompt P
Prompt Q
⁻A(P+Q)→B
APQ→C
(P+Q)/2→H
(⁻A(P-Q))/4→K
ClrHome
Output(1,7,"A=")
Output(1,9,A)
Output(2,7,"B=")
Output(2,9,B)
Output(3,7,"C=")
Output(3,9,C)
Output(4,7,"H=")
Output(4,9,H)
Output(5,7,"K=")
Output(5,9,K)
Output(6,7,"P=")
Output(6,9,P)
Output(7,7,"Q=")
Output(7,9,Q)
Goto 4

Lbl 4
Stop

Lbl 9
Output(8,1,"NO P  or Q TODAY!"
Goto 8

Lbl 6
Output(8,1,"NO P  and Q"
Goto 5
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